Lorentz Relativity Factor @ TD = (m/Planck Length)

((((hbar / planck length) / ¢) * (planck length#3)) / ((planck length / ¢c)*2)) / (((2pi)*2) *
(planck length”3)) = 1.89683232e+77 kg / s"2

((c™4) ] G) I planck length = 7.48839383e+78 kg / s*2

(kg m”3/s”2)/(2pi*2 mA”3) = Surface Tension

Planck values
(((c™4) I G) I planck length) / (((c*7) / (hbar * (G*2))) * (planck length / ¢)) = 299792458 m / s

Friedmann values
(((c™4) I (((mA"3) ] (3.71295774e-28 kg)) / ((m / ¢)*2))) I (1 m)) / ((3.33704e-11 pascals) * (m /
c)) = 299792458 m / s

Surface Tension/ Viscosity = Wave Speed

https://photos.app.goo.gl/WvSiTDgunNF7zi8u7

Friedmann values
(c*4) / (((m”3) /(3.71295774e-28 kg)) / ((m / c)*2)) = 3.33704e-11 newtons
3.33704e-11 pascals * (m / ¢c) = 1.11311673e-19 kg/m/s Friedmann viscosity

((c™4) ] (((m~3) / (3.71295774e-28 kg)) / ((m / ¢)*2))) / (1 m) = 3.33704e-11 kg / s*2 surface
tension

https://lyoutu.be/n6jAOV7bZ3Y ?2t=4m15s

Entropy .... “Changes in energy density”

((3.71295774e-28 kg) / (0.5%0.5)) * (((hbar / planck length) / c) / (0.5”0.5)) = 1.61622837e-35
((Friedmann mass) / (0.5”0.5)) * (((Planck Mass) / (0.520.5)) = Planck Length / m
Friedmann Kinematic Viscosity

((1 m)A2) / (1 m) / c) = 299792458 m*2 | s


https://l.facebook.com/l.php?u=https%3A%2F%2Fphotos.app.goo.gl%2FWvSiTDgunNF7zi8u7%3Ffbclid%3DIwAR0wePdWli76wTTMdu8EV1u1ZIkkYUR-IG60DN7i2_joAiDTe-jua23A04o&h=AT3h6a13U4Z6xsJp24OYIeG8Xxy7Hqtp7Q0vZpWL9YXgb9FyogrZzxlDLPopaXIc1ZSU-H95kP1iriUOuPndv2oFbnLbnWvVhGXRINS4SvbggVYszVoyWN86yj47G0XAw4CN7-m4
https://l.facebook.com/l.php?u=https%3A%2F%2Fyoutu.be%2Fn6jAOV7bZ3Y%3Ft%3D4m15s%26fbclid%3DIwAR2Y-2ehVQ4jrrVdVEnU9fF46DJcTTAmOWxyTtiNnSEBAYn3KuPPAgfqQJw&h=AT3ZNgqLgFNXQyjLfcJqs3bIpHXeijPGzUFVAQHVJA-vlrBU9Xpc87sntTBWVn25G1g3vqmILPeUAbuA0lKy3PZHByDobbPj_Og3NqzQo3SS6ICcGdS_ZDnIB-LN4OfdkvTaucVp

((planck length”2) / (planck length / ¢)) / (((1 m)*2) / (1 m) / ¢)) = 1.61622837e-35

Planck Kinematic Viscosity/Friedmann Kinematic Viscosity = (Relativity Factor LC
@(Planck Length/m)

((planck length”2) / (planck length / ¢)) * ((13.8880509 billion light years) * (0.5pi)) =1 m#3
I's

((Friedmann mass) / (0.50.5)) * (((Planck Mass) / (0.520.5)) = Planck Length / m

0.5720.5 = (Light Cone)

0.5 is kinetic energy Formula

kg*c*2/2 = Kinetic energy
https://pinimg.icu/wall/1440x2560/lorentz-transformation-lorentz-transformation-special-r

elativity-theory-of-relativity-lorentz-transformation-Eac79bc15752033dbd291ab9629b085f
a.jpg?t=5ce2403b2edc0

(((1 m)A3) / (3.71295774e-28 kg)) / (((1 m) / c)*2) = 2.42059092e+44 m”3/ kg/s”2
(Friedmann G) = ((Planck Force)*2)
((1 m)A3/(3.71295774e-28 kg) / (1 m/c)*2) = ((c*4/G)*2)

(c™2) 1 ((((((1 m)"3) / (3.71295774e-28 kg)) / (((1 m) / c)*2)) * (3.33704e-11 pascals))*0.5) =1
meters

(c*2) | (((Friedmann G) * (Friedmann pascals))*0.5) = 1 meters

https:/len.wikipedia.org/wiki/Friedmann equations#Density parameter



https://pinimg.icu/wall/1440x2560/lorentz-transformation-lorentz-transformation-special-relativity-theory-of-relativity-lorentz-transformation-Eac79bc15752033dbd291ab9629b085fa.jpg?t=5ce2403b2edc0&fbclid=IwAR0P9BSc1oEk9ucO6vbEAb4q-E3uF9zEcbVjSP2iLciFMwE6Vt__MJ2XiOA
https://pinimg.icu/wall/1440x2560/lorentz-transformation-lorentz-transformation-special-relativity-theory-of-relativity-lorentz-transformation-Eac79bc15752033dbd291ab9629b085fa.jpg?t=5ce2403b2edc0&fbclid=IwAR0P9BSc1oEk9ucO6vbEAb4q-E3uF9zEcbVjSP2iLciFMwE6Vt__MJ2XiOA
https://pinimg.icu/wall/1440x2560/lorentz-transformation-lorentz-transformation-special-relativity-theory-of-relativity-lorentz-transformation-Eac79bc15752033dbd291ab9629b085fa.jpg?t=5ce2403b2edc0&fbclid=IwAR0P9BSc1oEk9ucO6vbEAb4q-E3uF9zEcbVjSP2iLciFMwE6Vt__MJ2XiOA
https://en.wikipedia.org/wiki/Friedmann_equations?fbclid=IwAR26IhsP5u_ea3YEwv10VthusPERDCfwOCE2bCZutoH6NA5BsQrkuOuORkY#Density_parameter
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schwartz p minimal surface
cos(x)+cos(y)+cos(z) = 0

eA(-i x)/2 + eA(i x)/2 + eA(-i y)/2 + eA(i y)/2 + er(-i z)/2 + eA(i z)/2 = 0




Lorentz Transformation
(-((x*y)"2/((x*y)"2/z)))"0.5
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